
 

This is to correct the following error in the next to last paragraph of my Reply to Comments posted 

09/29/2015.  

 

The sentence that reads: 

 I wish to reiterate that it is not only the 1750‐1800 kHz band, but the entire segment from 1715 kHz 

to 2000 kHz that is “lightly used”, to the point of being practically devoid of radio signals of any kind.  

should be corrected to read: 

I wish to reiterate that it is not only the 1750‐1800 kHz band, but the entire segment from 1715 kHz 

to 1800 kHz that is “lightly used”, to the point of being practically devoid of radio signals of any kind.  

 

Donald B. Chester 

 


